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Instructions : (1) Attempt all § questions.

(2)  All questions carry equal marks.

1.  Express the meaning, scope of managerial economics and its relationship with other
branches of study. 14

OR
(a) Explain the process of Decision Making.

(b) Give the role of an economist in the decision making process.

2. Explain demand function and state the importance of demand analysis in managerial
€CONOmics. 14

OR

Give the meaning of demand forecasting and explain its important types.

3. Write a note on Pioneer Pricing. 14
OR

Explain the cost-plus policy for pricing.

4.  Give the difference between profit maximization objective and sales maximization
objective of firms. 14

OR

Explain the forms of business organization and give the advantages and disadvantages of
Joint Stock Companies.
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5. (a) Choose the correct option :
(1) The idea of managerial economics pertains to
(a) Macro concepts
(b) Individual concepts
(c) Micro concepts
(2) Managerial economics studies
(a) business firm (b) inflation (c) both (a) and (b)
(3) Demand forecasting becomes more important in nations.
(a) Developed
(b) Extremely poor and underdeveloped

(c) Developing

(4) Managerial economics has no relationship with account. This statement is
(a) true (b) false

(5) InIndia, for partnership firm, the minimum number of partners required is
(@ 2 (®) 5 © 7

(6) The liability of an individual owner in sole proprietorship firm is
(a) limited (b)  unlimited

(7) Managerial economics considers which objectives of business firms ?
(a) Economics objectives (pertaining to profit and sales)
(b) Maximizing utility
(c) Behaviour of a firm
(d) All of the above

(b) State whether the following are true or false :

(1)  Some types of demand may depend upon the nature of business.

(2) Discounting principle and marginalism are similar.

(3) The point of profit maximization and point of sales maximization are
attained at the same level of output.

(4) Cost plus pricing is similar to pioneer pricing.

(5) Opportunity cost principle was given by Prof. Baumol.

(6) Principle of maximum profit was given by Prof. Baumol.

(7) Case study method is superior to theory method for studying managerial
€CONnomics.
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1.

Define agricultural economics. Give its scope and nature. 14
OR

Explain the inter-dependence of agriculture and industry.

Discuss the various factors affecting to demand and supply of agriculture sector. 14
OR

Critically examine Cobweb theory of trade cycle in agriculture sector.

Discuss the role of organized agencies which provide agricultural finance in India. 14
OR
(a) Analyse the classification of agricultural finance.

(b) Discuss the role of unorganized sector to provide agricultural finance.

Critically examine the economic condition of agriculture labour in India. 14
OR

What are the causes of unemployment in India ? What measures would you suggest to
solve this problem ?

(a) Give answer in brief : 7
(1)  What is the full form of ‘NABARD’ ?
(2) What is the full form of ‘RLEGP’ ?

(3)  ‘Agriculture involves a time-lag.” Explain.
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Give the meaning of the less elastic demand for farm products.
What is the full form of ‘GATT’ ?
What is the meaning of consumption loans in agriculture sector ?

In which year the Minimum Wages Act come into existence ?

(b) Choose correct option :
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Credit for purpose is known as productive credit.

(a) social (b) family function (c) buy seed

In Cobweb theorem, when the elasticity of demand and supply of agriculture
products are equal, we get equilibrium.

(a) Stable (b) Continuous (¢) Fluctuation

Indian agriculture, in the period was known as subsistence sector.

(a) Post-independence (b) Pre-independence (c) Post-liberal

The system in India created landless labourers.

(a) Ryatvari (b) Tax (c) Zamindari
The labours engaged in sector are unorganized.

(a) Service (b) Construction (¢) Industrial

helps the farmer indirectly.

(a) RRB’s

(b)  Cooperative Societies

(c) NABARD

The 20 Points Programme was launched in the year

(a) June 1970 (b) July 1970 (¢) July 1975
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Instruction : All questions carry equal marks.

1.

Explain the meaning of Co-operation and discuss the philosophy of co-operation. 14
OR
Explain in detail the principles of Co-operation.

Give various definitions of Co-operation. Discuss the origin and growth of Co-operative

Movement. 14
OR

Discuss the problems of Co-operative Movement.

Explain the objectives, functions and limitations of consumer’s co-operative stores in

India. 14
OR

(a) Milk producers co-operative societies.

(b) Agricultural marketing and processing societies.

Describe the objectives and functions of primary agricultural co-operative credit society. 14
OR

(a) Urban Co-operative Banks

(b) International Co-operative Association

(a) Answer following Multiple Choice Questions (MCQ) : 7
(1)  When was the Roshdel Equitable Pioneers Society established ?
(a) 1840 (b) 1844 (c) 1854 (d) 1904
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(2) In which country of the world was the consumers co-operative societies

started ?
(a) Denmark (b)  Britain
(c) Germany (d) Sweden
(3)  Which of the following is a co-operative institute ?
(a) ONGC (b) BHEL
() AMUL (d) TATA
(4)  When was Co-operative society act formulated ?
(a) 1904 (b) 1915
(c) 1890 (d) 1881

(5) Which is the top of the Co-operative Activity Institute in India ?
(a) Indian National Co-operative Association
(b) District Co-operative Institutes
(c) State Co-operative Institutes
(d) Primary Co-operative Institutes

(6)  Which country is the leader in the area of co-operative dairy industry ?

(a) Britain (b) Germany
(¢) Denmark (d) Sweden
(7) What was the number of co-operative agriculture societies in India in
2003-04 ?
(a) 7250 (b) 7116
(c) 6551 (d) 6810

(b) Whether the following sentences are True or False :
(1)  All members have equal rights in co-operation.
(2) There is no difference between co-operation and socialism.
(3) General body is the highest authority in the management of co-operative
society.
(4) The Co-operative Movement was started by the labourers.
(5) Element of compulsion is always there in Co-operative Movement.
(6) The Co-operative Institution in India has three layers.
(7) Primary co-operative credit societies provide long term credit.

NE-118 12



